CS (MAIN)EXAM:2018  fa41% DETACHABLE
FIfier @ A@TEte (e 1)

COMMERCE AND ACCOUNTANCY (Paper 1)

Fratfa wwg - #9902 ity 3% ;250
Time Allowed ; Three Howrs Maximum Marks @ 250

wya-ux T faim agew

o weAt 3 we 3 | od frefafen vas o = sy o
=0l s We W ur wvet # famfim # o Rt ofle et ST A w0 2
il &t g v Wl &9 ot © |

Wi T 1 #% 5 st § A § @ v e § 0-4-50 U uE e el A
W & I Gifan |

Wi W9 /W & S 9Ees | iR T g )

usl % T =ot Ao # fra o e Fe o=a aed way-e o e omam #, sl o

e w1 wE SeE wE-we-T (wdin) oem § qe-me w e wmm w fEr e
=tfen | el wom & afifes g el mom # | e w S aF T e
wel § g Hi, et fafitEe ®, @ smee e wen aifeg
afe s B, A ST #iwer = 9oA Hif, war I e i )
7T & IRl T weE R St | 3 s w8 8, @ we F Fe 5 e S s
A1 T S st e B | we-we-gwe g § w9 g U an 96 6 6 w9
B & w2 S A |

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting guestions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
EMGLISH.

Candidate has to attempt FIVE questions in all.

Questions No, 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section,

The number of marks carried by a question/part is indicated against it

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. Mo marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of guestions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

Tus ‘A SECTION ‘A’

fpfafag wel # # WS W S S 150 Y A g
Answer the following in about 150 words each : 10=5=30

AT WS AT U Wl @ ey | e syt i el € 7
Explain the concept and nature of accounting standards. Why are these needed 7
10

F-g ot wrn waadm fofe & vae ot € 7 oad fadensd w0 Ad #
wHET |

What are the costs used in managerial decision-making ? Explain, in brief, their
characteristics. 10
s afufmm ¥ weta, e abad’ wfs o= s o oo
“Fravlt’ =afr & o ver fom 2@ 2 7

In what way does the liability of tax of a “not ordinarily resident” person differ from
that of a “resident” person under the Income Tax Act” 10

q 35D W 35 E F i, @ddl @ g e % fon st s deed &
g wEaET 1 BEErE |

Explain the major provisions of compulsory tax audit for claiming deduction under

section 35 D and 35 E. 10
W SIETE & WeTdT o eeg H weE |

Explain, in brief, the functions of cost accounting. 10
v a9 wim fafiz @ 31 W, 2017 W g feefafea @

Triied 7 arrferat ¥
20,000 i 20,00,000 | Tl 25,000
(wfer 91 2 100) W T 1,50,000

H99 U 3.00.000
12% fed=r 5,00,000 | T 80,000
w=iE 2.70,000

fid=m == 1,20,000 el 60,000
L : @ W A 35,000
X yRfiF =g 20,000

3,00,000 | ey = s w@En 19,580,000
29.20.000 29,20,000
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fifafor St o Ffert 2 -

(i) et @ wla 9 795 % w0 A fw = # | 5w g, o wfy A
Z10 3 10,000 3 Sl § aafE R s 2

(i) Fedmeardl o ow fodem =ma 9 wrm @ gl 33 ¥ ) afgff % =
#H, 129% fesd=r 1 14% REsx # ofaffa =< o s 8, 25,00,000 @A 9w
2|

(iii) #erl # 7 fawer fa s ¥ fF @ @ ¥ o TR & of e #os0%
o SiEE F aaar d9 g F s daEt (afe S 7 10) # ofiafi ww
T | 22,00,000 F AR A9 AT $ ol B e W feen R

(iv) 9 sFerl &t st & foo iR Aqee gmam @ feer g @ ug andsia
dsit =it S5 F fg e @ TE W 50,000 $RE SR (wfy 9eR 210) W
Frif gedl 2, @ S of W amEeT W 5 2 | 9w el gof afiee
gml

(v) Hfr g wE W F2,00,000 W FREA oo @ 9= fE wiah s e =

¥2,10,000 %= fim e 2 | wfem =mw g 25,000 1w femn wmn 2
AT e Wiateat sifam sk ke F g e w1 ged 9 dER
aifen |

The following is the Balance Sheet of }:i'!t'z Ltd. as at 31st March 2017,

Liabilities v Assets ¥
20,000 Equity shares 20,00,000 | Goodwill 25,000
of F100 each Land & Buldings 1,50,000

Plant & Machinery 3,000,000

12% Debenture 3,00,000 | Fymiture £0,000
Outstanding Stock 2,770,000
debentures interest 1,20,000 | Debtors 60,000
Cash at Bank 35,000

Creditors 300,000 | Preliminary expenses 20,000
Profit & Loss Alc. 19,80,000

29.20,000 20.20,000
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2.(b)

The following is the scheme of reconstruction :

(1)

(ii)

(iii)

(1v)

(v)

Equity shares are reduced by ¥95 per share. They are, then, consolidated into
10,000 equity shares of ¥10 each.

Debenture holders agree to forego outstanding debenture interest. As a
compensation, 12% debentures are converted into 14% debentures, the amount

remaining ¥ 5,00,000. -

Creditors are given the option to either accept 50% of their claim in cash in full
settlement or to convert their claim into equity shares of F10 each. Creditors
for ¥2,00,000 opt for shares in satisfaction of their claims.

To make payment to creditors opting for cash payment and to augment working
capital, the company issues 50,000 equity shares of %10 each at par, the entire
amount being pavable along with applications. The issue was fully subseribed.

Land and Buildings are revalued at ¥2,00,000 whereas plant and machinery is
to be written down to #2,10,000. A provision amounting to 5,000 is to be
made for deubtful debts.

Pass necessary journal entries and prepare the company’s balance sheet immediately
after the reconstruction. 20

forlt weelt w1 g Wi wevE weRel W & e Wl B | weles aqwE |
a% war = & Fr v when # e afy (GEw) W over R

e efa wfa & e 7=

© T (A) 2% 25 4 wfy zad

4 (B) 4% 50 ¥ wfy zard

& () 2-5% 60 H wia =

YT WER 9 ¥

ECIA WEH T Wl At wEE Al
AU 12,000 10,000 9,000
b [ 16,000 5,000 4,900}
Tt == 2,000 3,400 1,590
w7 Y = 3,500 2,005 2,004
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WEH T H 13,560 F o # wEfE B9 F 4,000 Al 48 0 | s W
3 Fegmed 59 VR A1

&FH TR

T 3,850 SERTEAT

= 3,600 FHTET

Ht 3,500 sersal
WA @Td aAEa TF 9w At @ ifen B e s W 20% W oW w4 ', Wi
i fosra Ae wearfea weis = fam @ | 15

The product of a company passes through three distinct processes to completion.
From past expericnee, it 15 ascertained that the normal wastage in each process is

as under :

Process Wastage Sale value of wastage
A 2% 25 paise per unit
B 4% 50 paise per unit
C 2:5% 60 paise per unit
The expenses were as follows : F
Particulars Process A Process B Process C
Materials 12,000 10, 000 9,000
Direct labour 16,000 5,000 4900
Manufacturing expenses 2,000 3,400 3,590
Other factory expenses 3,500 2,005 2,004

4,000 units were initially introduced in process A at a cost of F13,560. The output

of each process was as under :

Process Output
A 3,850 units
B 3,600 units
C 3,500 units

Prepare process accounts and also work out the sale price per unit of finished stock
s0 as to realize 20% profit on selling price.

5
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2.(c) ﬁﬁﬁ?ﬁﬁgﬂmﬁmaﬁﬂaﬁtmqﬁﬁiﬁmﬁmﬁﬁﬁﬁ%w

oy & 7

What are the provisions of inclusion of the income of 2 minor child and the wife of

an assessee in his total income 7 15
3(a) w40 ad) i Fake ad 2018-19 F fou w-amg g <t wmoen Hife

z

R § faa @ 2,00,000

T o e | ardeEEE deie Hie

(afe fam =@y & " 6 W) 6,00,000

g FOA & REIR § e (o A

(Z2at9e & =g )

(T T T2,50,000 FT 20% 9 W W A g N wmen § A

26,00,000 =1 10% F 2 #) 2,50,000

g g us, foaw a8 e B, ¥ WH 9@ W Y 82,000

o W A o (30% & 8 ve = FEe) 70,000

5 Fit el SEEt 9T =

TG F AW H ST 1,17,000

— AEfem qF & M 1,450

= W%Taﬁ%%m Bt{m

— e et O & AW 70,000

ATH 67 ot = wd i Afeww Gfeem w R omn =

(m o i, fesm =af) 8,000

anfert gt % waen W e w6 A seE st w fee
w1 S At (s o sfy-afee gt domm & fen s @) 6.,90,000

ST O U ST W 76.000
Trier afmfya aufd e =i A 5,000
Frefor = 2014-15 # FEftm 1% 9% FEEE & s w1l 26,000
T 10, 2017 & wF B W ¥1,15,000 § ST 99 F @

(7 & =R = T1,70,000 ) 1,15,000
wer wfrsy faftr @ran # s w@ U9 UE H K 5w o 163,000
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3.(b)

Compute the taxable income of X (40 vyears) for the assessment year 2018-19,
¥
Net income from trading business 8,000,000

Long-term capital gain on transfer of debentures
(if computed without indexation) 600,000

Long-term capital gain on transfer of hsted debentures
(computed after indexation) (X wants to pay tax at the rate of

20% of ¥F2,50,000 and not at the rate of 10% of ¥6,00,000) 2,50,000
Share of income from HUF in which he is a member 82,000
Winning from horse races (net of TDS of 30 per cent) 70,000
Interest on bank fixed deposits :

— Deposit in his own name 117,000
— In the name of minor son 1,450
— In the name of minor daughter 8,000
— In the name of major vnmarried daughter 70,000

Expenditure incurred for medical treatment of his 67 years
old elder brother (dependent of X, being a person with disability) 8,000

Repayment of loan taken for part-time studies of
major daughter for graduate course in management

{loan is taken from a notified charitable institute) 6,90, 000

Payment of interest from the aforesaid loan 76,000

Donation to the aforesaid notified charitable institute 5,000

Brought forward loss of a discontinued business

pertaining to the assessment year 2014-15 26,000

Purchase of a work of art on November 10, 2017 from a friend

for ¥1,15,000 {market value is, however, ¥1,70,000) 1,15,000

Deposit in Public Provident Fund account and purchase of

NSC IX issue 1,63,000
25

U FAr & " A e famdl # mmengd B e forss aat F frafo & e
fmw far s 2 | wewt g AT ¥ WA S W 3 S WEE & oS-
A # S £ 7

State the points 1o be considered while determining divisible profits in case of a
company. What are the auditor's duties m regard to payment of dividends by a

company 7 15
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3(c) R ware fran @ wefim wiodm Swe WS 6 wHE wEEE SR #

qHATE |
Explain, in brief, the main provisions of Indian Accounting Standards regarding
cash flow statement. 10
A(a) 319, 2016 F quw s fufie F feafafe 99 2
o (3fE) 7 W (%) ¢
g ma waA 30,72,000 | #w1 9E (4,00,000 40,00,000
e T Ay 33,00,000 | $EE F10 WEOF) -
=i 7,50,000 | 12% oT9H 30,00,000
fafira e 8,70,000 | =mw-wifq @ 2,62,500
Tefie 2,50,000 | ¥ fa= | 3,70,000
a4 i T 406,500 | 9ER 400,000
=T A 75,000 | fawa 41,50,000
WEN SiE ATHI 302,500 | @wETg Wity 2,50,000
erie 18,50,000 | suien = 35,000
yrifirs =09 50,000 | (01.042015 S WrEHH)
A RAT 9,79,800
AT = 68,350
EGE] 2,02.250
EolE 21,100
e WUMH W 1,80,000
1,24.67,500 1,24,67,500

Frafafiaa afufes st sy 2

(a) WE UH WARED W 15% JE FE

(b) wrifirs =59t & 25,000 F =2 @W TEA

(c) =my =d @1 fad=e =m arh

(d) FErt ¥ fau wfew ol 92 5% WET = WEaE

(¢) W8 &% & fou 50% & W 8 wEYE W

(f) 31\, 2016 F w=iw £9,50,000 91

(¢) @At efigfd g 25,000 % v @ W wet fdw ww w R
FrAT & wfem o e |

EGT-P-COMA 8



The following are the balances of Bhushan Co. Ltd. as on 31st March, 2016 :

Debit . 4 Credit s

Land & Buildings 30,72,000 | Share Capital 40,000,000
Plant & Machinery 33,00,000 | 4,00,000 shares {@ ¥ 10 each
Stock 7.50,000 12% Debentures 30,00,000
Sundry Debtors 8,770,000 P/L Ade. 2,062,500
Goodwill 2,.50,000 [ Bill Payable 3,70,000
Cash at Bank 406,500 | Creditors 4,00,000
Calls in arrear 75,000 | Sales 41,50,000
Interim Dividend paid 392,500 | General reserve 2,50.000
Furchases 18,50,000 Bad Debt 35,000
Preliminary Expenses 50,000 (Provision on 01.04.2015)
Wages Q.79 800
General Expenses 68,350
Salaries 2,02.250
Bad debts 21,100
Debentures interest paid  1,80,000

124 67 500 1,24,67,500

The following additional information 15 available :

{a) Depreciate Plant & Machinery by 15%

(by Write off 5,000 from Preliminary Expenses

{c) Half-year's Debenture interest due

(d) Credit 5% provision on Debtors for doubtful debts

(e) Provide for Income Tax @ 50%

(f) Stock on 31st March 2016 was ¥9,50,000

(g) A claim of ¥25,000 for workmen's compensation is being disputed by the
COIMpArny.

Prepare Final Accounts of the company.

aby ' F wmdE gee-a we afiEt fir smder @9 € s | Fend
' st #-froardt afigafogt & <= fadga $ifvo |

“The audit of banks is the audit of balance sheet and advances.” Explain. Distinguish
between performing and non-performing assets. 20

20
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4.(c)

S.a)

3.b)

S.c)

5.(d)

S50e)

e s o IR e e e e e e o e T e
i ofter ey s &) owm F yey #, wAE AvE Faiw & S #

T |

“Standard costing 1s universally accepted as an effective mstrument for controlling
costs in industries.” In the light of this statement, explan the objectives of standard

costing. 10
guE ‘B’ SECTION *B°

Frafafaa vt § @ wois = F0% F9 150 = A7 Sl
Answer the following in about 150 words each ! 10=5=50)

v faeftg fofl, whef (Red), ifer o aom @ % 99w @
T AT g it |

Critically examine the relationship between the key financial decisions, retumn, nisk
and market value. 10

Yot fasemm, owvaE. fsewn oF et sed o (sl o A
ST ) WA WE W A S § AT WOeh 979F | Weds 61 o s o
TETEA TH FHET ATRUTAT & FE0 o S |

“ABC Analysis, FSN Analysis and Inventory Turnover Ratio are the most commonly
used tools of mventory management.” Explain each tool in brief and state the
reasons for their popularity. 1

frer Fotam weem 3t Siflaw =1 wnfae @ & Fafafm o8 & fFEEn S
sifas gurafia gz fafe vd Fissaa g fafl )

Discuss the following ways of incorporating risk in the investment decision making
process : The Risk-Adjusted Discount Method and The Certainty Equivalent
Method, 10
" aral i fasfte ot & we, gt oftosan, ao FelEt o wefia
T 9 g o wwE B, Il = we ve W\ F wel oS w
formn =1 wepan & | At A FetiaRn W Aoy weE difae |

“Financial markets can be classified based on types of financial claims, maturity of
claims, claims representing new 1ssues or outstanding issues, timmg of delivery and
nature of its organisation structure.” Summarise the classification in brief. i

= Huitg #, ‘fEfed & g vaw infae wewne @ e difi ) mr aee &

Wil = & Faton & T Gefea g0 - weltes s5mmm o w8 7

Explain the rating methodology used by CRISIL in debt rating. What symbols are
used by CRISIL for determuning the risk level of a debt instrument 7 10

EGT-P-COMA 10



6.a)

6.(b)

w3, Fifs foafifm s AR i s e = w2

[EESIE]
(A) 9ur frgm (2 @@ #) 10-00 9-60) 12-00
(B) wuw sty (Rt #) 30 45 60
() zan Fm (ferm = wfte) 5 4 6
(D) TuR WamEA F wEE (¥ WE ) 0-40 025 | 050
(E) fta g safy (Rt ) 45 50 70

Frrt fam W 40% FEEM WIE S R AU ¥Rl § | 3 Ew W sEws
qftefe @ (e s fed) wfted 200 % | @@ o o =d @ 365 fom & | s =1 wema
2 fE el & fau w-m gaw-wafy-fee st 3o 2

ABC Ltd. is considering the following credit policy alternatives :

Particulars F;‘;Tit;;g DE’T“ Df“;'"
(A) Credit Sales (¥ in lakhs) 10-0:4) 960 12-00
(B) Credit Period (days) 30 45 Gl
(C) Bad Debt (% of sales) 5 4 6
(D) Cost of Credit Administration (¥ in lakhs) 0-40 025 0-50
{E) Average Collection Period (days) 45 50 70

The company expects to achieve a contribution of 40% on sales. It has the required
rate of return on investment of 20% p.a. Assume 365 days in a year. You are required

to suggest which credit period option is more suitable to the company. 20
‘fipfera swdityw’ &t foafafaa s e 2 .

— Wi 9§ ¥ 4.00

— it w wfEE = 18%

— St g aifea ofwfE 5 (2 giw fed) 15%

af% Gree wuE 40 WA ? 50 WRWE 60 wiayw € 7 a1 9w qige o SR
Wiy S o Fem g v
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6.(c)

T.a)

The following information is available for KRISHIV Corporation :

— Earning per share F4-00
— Rate of return on investments 18 per cent
— Rate of return required by shareholders 15 per cent

What will be the price per share as per the Walter Model if the payout ratio is
4() per cent 7 50 per cent 7 60 per cent 7 15

it S wile st goh amm (sEwoatdl) s @R o fol e @
St o F fay R R St & et g € ) wEw # weweed |

“The Weighted Average Cost of Capital (WACC) of a firm, depends on many factors
which are bevond the control on the investment and financing policies of a firm."

Explain in brief. 15

e ffis wue AR Sea g aeeE geEl B H uw & fafmin s@ R oarem
A aredl # | sEE a3 feer @ - ue, Ao alee argfdeant § s wE W
TE, T EweETE e e
Tady adwm st & whed so00 2fE 6 e #2125 wh g F o w
sTgfet et ot geal wafdE A2

afe wew @ ey ffetn g 2 @ s fog amees Suwon @ aEE
F10 @@ BNl TE Ui 99 % v S9E AGATHE S9e 6 €2 W T8 |
sfafes wardt wma (gm w1 @) S " 71 A wh o gt | ueEs
we & T W ofedsfa amm 230 wfy gfe 26 | s 35 wfmm S
seria 2 | = i & o gl s 15 whee ) serlt B sl el
sasawaT gig af #q 7,500 gfe wfy =f & | wDv faft % s w gm oW w®
wratier 5% 25 wheE # )

FAT wi weme aifvn fe et ared smgfdeat & sl wae =fey s w9 W@
feprtor wrem = ife | @y =7 = firm enn ARt wieEd st & faE 6000
gfEl &t smavaEar B, 9% |

EL| 1 2 3 4 5
F1HT 15% T FGAE g5 | 0870 | 0756 | 0658 | 0572 | 0-497
T1 Tt w1 adoE og=r | 0870 | 1626 | 2283 | 2.855 | 3.352
15% % '

EGT-P-COMA
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T4b)

Namya Ltd, wants to prepare the feasibility of manufacturing one of the components
needed for its finished product. It has two options of purchasing from its present
supplier or to manufacture it in-house.

Its present supplier has shown the willingness to provide at F125 per unit for the
company s requirement of 6000 units per year.

If the component is manufactured in-house, it requires equipments costing
210 lakh and is expected to have salvage value of ¥2 lakh after the expiry of five
vears. Additional fixed cost (excluding depreciation) are estimated to increase by
71 lakh per year. The varable cost of manufacturing each component will be
30 per unit. The company is subject to a 35 per cent tax rate. Its cost of capital
is 15 per cent for this project. The company’s projected annual needs is at 7500 units
per year for 5 years. The tax relevant rate of depreciation is 25 per cent based on
WDV method.

Advise the company, whether it should continue buying from outside supplier or
start its own manufacturing. Will your answer be different if the requirement of the

company is only 6000 units per year ?

Year 1 2 3 4 5
The present value of 0-870 0-756 0-658 0:572 0-497
T1 at 13%

The present value of an | 0-870 1-626 2283 2-855 3352
Annuity of F1 at 15%

20

‘g At fafiee & S s 9ot 25,00,000 B, (dfE = %10)
forar AT S smEvas g ww % oo, s $3,00,000 S STEdt @
Fifit =t == fo, e Pefife ar sRm e e fer wm @ #

AT & g afi e e | W R

A ;¥ A6 S W ve 2 W R dem @ 10 wiewm wiied e 1w
el |

A gl 239w, S W 10% wioEd = w s |

AT T A S A U T2 A 8% Wi A o et el % e 8

Forecire Ao whdRe o TEETE AT F 1,50,000 A WIH G R IR Sl R | S W

35% & o N & | S99 AAT o He S |
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T.4c)

8.(a)

Mayur Manufacturing Ltd. has equity share capital of ¥5,00,000 (face value
F10). To meet the requirement of expansion plan, the company wishes to raise
¥3,00,000. The company is considering the following four alternative sources 10
raise the funds :

Plan A:  To have full money from the equity shares.

Plan B ©  Toraise F1 lakh from equity and F2 lakhs by borrowing from financial
institution (& 10% rate of interest per annum,

Plan C :  To raise full money of ¥3 lakhs from bank at 10% rate of interest per
ANNUIML

Plan D : %1 lakh in equity and ¥2 lakhs issue of preference shares at 8% per
annum dividend.

The company is expected to have eamings of ¥1,50,000 after the expansion

programme. The tax rate applicable to company is 35%. Suggest the suitable plan.
15

frefrr it 35 v o gevre Fed A Frefetan st @ oRonfe o
g it
(i) e dqum (ufie dR smuE)
(if) =ATH HCEHW AIE
(i) sitem wwe FEly
(iv) fafrfaa Ot = aREf
(v) HiHT — #a wI
Define and evaluate the following ratios used for analysis of financial statements :
(1) Acid-test ratio
{if) Interest coverage ratio
(iii) Awverage collection period
(iv) Return on capital employed
{v) Price — earming ratio 15

frer 3 T 3 e s B 3 -t @ R s 8§ 7 afimf
w3, ot i aabE W 2f @ R e Rfw w H e Rt
il i

What are the different bases for establishing the exchange ratio in case of a merger

How the boundaries for exchange rate is deterruned from the view pomnt of
acquiring, acquired and combined firm ? 20

EGT-P-COMA 14



B.(b)

8.(c)

R # g gl gEE g B REee Fifng
Discuss the state of the venture capital industry mn India. 15
iy v s firer el foR G weEn ool fremr @ e St @ o g g

afirdrat @1 @aa difm | Feafafes st = w1 e, ok v e
e w0k, GRSy T arfdds wee T wER ww R S oad wfE wwe €

sy Fafiree v om Ffitte v wiflaw aoft # € | ow fafies & e o 4t el
2 | wm fafiee & aw oFl, W o R O 2| e fae el €

foram T fafies wam fefires
fraer of=ma @ (2) 10,00,000 10,00,000
Y AT (F) — 3,000,000
Ei Eiay s — 10%
tfaadt deflem 22 14% 18%
e gEft AR 14% 14-52%

e e T T fafivee % 1,00,000 w9 & ) G o I @ wT R ) w9 f
ARl = S
State the assumptions made in Modigliani and Miller Proposition-1 that the capital

structure is independent of capital mix. Explain with an example that how arbitrage
process justifies the theory, using the following data.

Shyam Ltd. and Ram Ltd. belong to same risk class. Ram Ltd. has no debt capital.
Shyam Ltd. has both debt and equity capital. Other details are as under :

Particulars Ram Lud. Shyam Litd.
Net Operating Income () 10,00,000 10,00,000
Debt Interest (¥ ) — 300,000
Debt Capitalisation Rate — 10%
Equity Capitalisation Rate 14% 18%
Average Cost of Capital 14% 14-52%

One investor is holding ¥1,00,000 worth of equity shares of Ram Limited. What
arbitrage will he resort to 7 15
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